Written Addition- Questions

Key Stage 2: 2003 Paper A

1.

Tom and Nadia have 16 cards each.

Tom gives Nadia 12 of his cards.

How many cards do Tom and Nadia each have now?

\

Tom Nadia 8a

Lucy also has 16 cards.

She gives a quarter of her cards to Kiran.

How many cards does Lucy give to Kiran?

\ .




Key Stage 2: 2003 Paper B

1.

o Here are five digit cards.

e

Use all five digit cards once to make this sum correct.

N

1 mark

Key Stage 2: 2005 Paper A
1.

&P coicuiste 1202 + 45 + 367

1 mark



Key Stage 2: 2005 Paper A
2.

m Tick (v) the two numbers which have a total of 10

\

0.11 1.01

1 mark

Key Stage 2: 2005 Paper B

1.

o Circle the numbers that add up to 100

\

64 32 16 8 - 2 1

1 mark

Key Stage 2: 2006 Paper A

1.

&P cacuiaie 52.85 + 143.6

1 mark



Key Stage 2: 2007 Paper A
1.

n Circle one number in each box to make a total of 1000

\ 150
250 200
350 400
450

150

250

350

450

Key Stage 2: 2008 Paper A
1

B Calculate 239 + 182

Key Stage 2: 2011 Paper A

1

Calculate 3.81 + 18.3

1 mark

1 mark.




Key Stage 2: 2013 Paper B

1.

OHERE

Use four of the cards to make this addition correct.

Key Stage 2: 2014 Paper B

1.

n Circle three numbers that add to make 750

\

450 350 250 150

Key Stage 2: 2015 Paper A

1.

n Calculate 735 + 2669

40

50

1 mark

1 mark

1 mark



Key Stage 2: Paper 1 Arithmetic - Sample

1.

5565 + 656 =

1 mark

Key Stage 2: 2016 Paper 1 Arithmetic - Sample

1.

979 + 100 =

1 mark




Key Stage 2: 2016 Paper 1 Arithmetic - Sample

2.

6.1 +03=

1 mark

Key Stage 2: 2016 Paper 1 Arithmetic - Sample

3.

1,034 + 586 =

1 mark




Key Stage 2: 2016 Paper 1 Arithmetic - Sample

4.

2.5+ 0.05=

1 mark

Key Stage 2: 2016 Paper 1 Arithmetic - Sample

5.

5,756 + 8,643 =

1 mark




Key Stage 2: 2016 Paper 3 Reasoning - Sample

1.

n Write the four missing digits to make this addition correct.

. A o, 2 marks

Key Stage 2: 2016 Paper 1 Arithmetic

1.

4 | 987 +100 =

1 mark




Key Stage 2: 2016 Paper 1 Arithmetic

2.

2 46 + 304 =

Key Stage 2: 2016 Paper 1 Arithmetic

3.

5 =936 + 285




Key Stage 2: 2016 Paper 1 Arithmetic

4.

7 89,994 + 7,643 =

Key Stage 2: 2016 Paper 1 Arithmetic

5.

14 | 3.005 +6.12 =




Key Stage 2: 2016 Paper 1 Arithmetic

6.

16

15.98 + 26.314 =

1 mark

Key Stage 2: 2016 Paper 2 Reasoning

1.

Circle two numbers that add together to equal 0.25

0.05 0.23 0.2 0.5

1 mark




Key Stage 2: 2017 Paper 1 Arithmetic

1.

1 40 + 1,000 =

Key Stage 2: 2017 Paper 1 Arithmetic

2.

5 | 707+1,818=




Key Stage 2: 2017 Paper 1 Arithmetic

3.

6 | 27+3.014=

Key Stage 2: 2017 Paper 1 Arithmetic

4.

- = 4,500 + 600




Key Stage 2: 2017 Paper 2 Reasoning

1.

a Complete this table with the missing numbers.

One row has been done for you.

Number 1,000 more
3,500 4,500
85
9,099
15,250

Key Stage 2: 2018 Paper 1 Arithmetic

1.

2 marks

1 | 39+673=

1 mark




Key Stage 2: 2018 Paper 1 Arithmetic

2.

56.38 + 24.7 =

Key Stage 2: 2018 Paper 1 Arithmetic

3.

15

3,050,020 = 3,000,000 +

+ 20




Key Stage 2: 2018 Paper 2 Reasoning
1.

a Stefan completes this calculation.

Write an addition calculation he could use to check his answer.

\ J 1 mark



Key Stage 2: 2018 Paper 3 Reasoning

1.

° Write the three missing digits to make this addition correct.

Key Stage 2: 2019 Paper 1 Arithmetic

1.

2 marks

1 = 6,000 + 90

1 mark




Key Stage 2: 2019 Paper 1 Arithmetic

2.

= 8,275 + 82

Key Stage 2: 2019 Paper 1 Arithmetic

3.

826 = 800 +

+6




Key Stage 2: 2019 Paper 1 Arithmetic

4.

4 + 5 =341

Key Stage 2: 2019 Paper 1 Arithmetic

5.




